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SALE	TIME	
After	watching	the	video	about	percentage,	answer	the	
following	question.	In	which	shop	would	you	buy	the	shirt,	
knowing	that	its	initial	price	is	10	€	in	both	cases?	Explain	
your	choice.	

	 	

	

1. Shop	1	
2. Shop	2	
3. Pointless	question,	the	final	price	is	the	same	both	
shops.	
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Solution.	
	
Applying	the	30%	discount	first,	the	initial	price	of	10€	
becomes	7€.	
Than	applying	the	20%	discount	at	this	7	€	the	final	price	
is	5€	60	cents.	
While	half	price,	which	is	50%	discount,	is	only	5€.	
So	shop	2	is	more	convenient.	
Remember,	you	can’t	just	add	percentage	rates	like	
simple	numbers!	

	


